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All questions are compulsory.

Question paper has three Sections section “A”, Section “B” and Section
“C”.

In Section “A” Question Nos. 1 to 5 are objective type.

In Section “B” Question Nos. 6 to 24 has Internal options.

Section “C” has two options. Candidates are required to attempt
questions from one option only.

Marks for each Question are indicated against it.
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grg — 3
SECTION - ‘A’
Tar famed 2B foTReaq — (1x5=5)
() TS DT A AP B —
1-iW/3 V3 -i
(a) — (b) 5
1+iW3 1+i/3
(©) 5 (d) >
(i) Tl TNBRT 4x° + px + 9 =0 B T T &, A p BT A
1T —
(a) +12 (b) 12
(c) 144 (d) -12
(i) oy TfHRT ax’+bx +c=0d o ¢ T 20 ¥, I —
(a) b®=09ac (b) 2b®=9ac
(c) b®=-4ac (d) a®=c?
(iv) s T -1+i4/3 BT Dol & —
(a) 120° (b) -120°
() -60° (d) 60°
(v) st S=ar 1+ &7 A6 © —
@ 2 (b) -+2
1 1
L d) —-—
(©) 7 (d) NG
Choose the correct option-
(i)  One of the cube roots of unity is -
1-iW3 V3 -i
(a) — (b) >
-1+ l‘\/§ 1+i\/§
(€ > (d) 5

(i) If the roots of the equation 4x® + px + 9 = 0 are equal, then

the value of p is-
(a) 12
(c) 144
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If the roots of the equation ax*+ bx +c=0are ¢ and 27,

then -

(a) b?=9ac (b) 2b”=9ac

(c) b?=-4ac (d) a®=c?
(iv) The argument of complex number -1+iy/3 is -

(@) 120° (b) -120°

(c) -60° (d) 60°
(v) The modulus of complex number 1 +iis -

(@) 2 (b) -2

1 1

(©) N (d) Tz

fr=farfea wemt 7 v /o ey — (1%5=5)

(i)

(i)
(i)
(iv)

(v)

avd b & FHR gy a;b BT |

0,1,2,3,4 &1 =R A=G 5 7|
qTey, HIeAdT d Tgeld H Hed & —
geTh = 3 HIfEgedT - 2 HIeY

Wﬁﬂww%ﬁw%‘l

dx
sin X

®T 719 log sin §+C =

Write true/false in the following statements -

The Arithmetic Mean of a and b will be a Z b )

The Arithmetic mean of 0, 1, 2, 3, 4 is 5.
Relationship between Mean, Median and Mode is —
Mode = 3 Median — 2 Mean .
Coefficient of Standard Deviation is % .

X

dx
sinx

The value of 'f is log sin% +C.
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R o=t @7 gft By —

(i) =T 9+5+1..... D 16 &I TP BT AFTDE .o =

(i) =T =R BT ONR AT IRAd oSBT . BT & |

(i) o5 @4) DI g5 I T =

(iv) afg f9=g (3,0), (6,9) TAT (X,3) WG T, TN X = oo

(v) BT OREOR S9aq NS BT YEOT BT OB BT
=

Fill in the blanks -

(i) Thesumoftheseries9+5+1......... up to 16 terms is......

(i) Geometric mean of two numbers is their................

(iiiy The distance of origin from point (3,4)iS ................

(iv) If point (3,0), (6,9) and (x,3) are collinear, then x = ..........

(v) The product of gradient of two perpendicular lines is...........

JAFH BT TP U5/ I § IR SIRY —

15
(i) (x2~£) P YAR H X ¥ WA Ig RIT NP

XS

(i) n SrTal al YT B STl B AT RIT B8RP
(i) af® A={1,2) 7o B ={3,4}, 79 Ax BT #RT

(iv) afxy=a"=l 3—3: BT A ERT?
(v) 2,8,6,10,16, 4, 3 &1 HIIDT 1 DIVTY |
Give answers in one word/sentence -

15
(i) Inthe expansion of [xz i) , the term independent of x

X3
will be?
(i)  What will be the number of subsets of a set containing
n elements?

(i) IfA={1,2} and B = {3, 4}, then find A x B.

d
(iv) Ify = a*, then the value of d—iwil! be?

(v) Find the median of 2, 8, 6, 10, 16, 4, 3.
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W5  WET Sl sy — (1x5=5)
@ (o 0 Ao saiogha ]
O [z dx (i) log+VZra]

© | 21 _dx (i) ilog(a”)

(e) Laz +x2 dx (v) log lx +x2—a? I

Match the column-

@ o O 2@+ loghs e
(b) .az j = dx (i) log [§<+\/x2 +azl-
© . 1 . dx (i) il " a+x)

Y ¥X"+a a a-x

(e) Na?+x? dx (v) logl;:+\/x2—azl
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grs — ¢
SECTION - ‘B’
(x2 +yx)* & TR § W (@) 9T o SR @
Write the general term in the expansion of (x2 + yx)m_
st/ OR
g oo fe (IRRTT s g &)
1+2+3+ i, +n=%(n+1),aﬁnwmaﬁ%l
Prove that [By the Principle of Mathematical Induction ]
1+2+3+ .l +n=%(n+1),wherenisanatural
number.
3 @
%Uﬁ-e,-s,—g ..................................... BT BST Ug SITd DI |
Find 6" term of the sequence -6, - 3, % .................
sierar/ OR
6 3R 9 BT OIRR AT TN DI |

Find the Geometric Mean of 6 and 9.
zri%f(x):x%Zx—S%ﬁ,aﬂ(O)amf[%)emﬂﬁﬁﬁa%‘r%rql @)

If f(x) = x® + 2x — 3 ,then find the value of f(0) and f (%] .

3erar / OR
afE f(x)=/x+1 @ g(x) = x* + 2 1 df fog T gof BT A =a
PITT |
It f (x)zm and g(x) = x* + 2, then calculate fog and gof.

o 2
X";"4xngaaﬁrnﬁ§ma%‘rml @

im X*-256
X—4 x4
3rerar/ OR
€* cos X T Iadhel [oNeh FATT DI |
Find the Differential coefficient of * cos x.

Evaluate-
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410 UPH ool H 5 AHE JR 8 PIeil 7 B | S0 W UP 9Wg g e (2)
DI IIAHAT ST DI |
A bag contains 5 white and 8 Black balls. If a ball is drawn at

random from the bag, what is the probability of getting a white
ball?

sierar/ OR
S g BT UPH A Bh TR AT 9 I DY WIRIBAT ST BT |
In a single throw of two dice, what is the probability of obtaining
a total of 97
T11 st A ABC ¥ g IR for- ©)
asinA-bsinB=csin(A-B)
In any triangle ABC, show that -
asin A—bsin B =c sin (A - B).

st/ OR
gfra=2,b=23,c=4% d cos A, cos Baer cos C &1 99 =1d
PIRTY |
Ifa=2,b =3, c=4, then find the value of cos A, cos B and
cos C.
12 g SRR & R¥ far mar wer f(x) = x° — 3%% + 3x — 100 @ (3)
=

Show that function given by f(x) = x> — 3x* + 3x — 100 is
increasing on R.

ST/ OR
SRTe [1, 3] & werd 2x° — 24x + 107 &1 Sfeerss 79 Sid B |
Find the maximum value of 2x® — 24x + 107 in the interval [1, 3].

918 gfy "P,_, =60 I n & A S BN (3)
If "P,_, =60 ,then compute n.
3rerar/ OR

afe "cys = "Cig T Fc, BT T ST BIRY |
If "c44 = "c4g then evaluate *%c,..
Y14  UPH < B dx (-2, 5) TR 3 B | g9 BT FHIGIOT S1G (3)
DHINTY |
If the centre of a circle is (- 2, 5) and radius is 3, find the
equation of the circle.
3erar/ OR
k& forg a1 & forg fa=g (1,4),(k, - 2) T (- 3, 16) ¥R &7
The points (1,4), (k, - 2) and (- 3, 16) are collinear. Find the
value of k.
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Rig Hiw 5 — (4)
Prove that —

b+c a b

c+a ¢ al|=(a+b+c)(a-c)?
a+b b c

3T‘€IE|T40R

FHIBRT B DI,
Solve the equation.

X+a b c

a x+b ¢ |=0

a b x+c

[ 9 + 16y° = 144, & fo g—am, og—o@ @1 awsdl, (a)
T @ e, oY qer Sl S BT |
For the ellipse 9x% + 16y? = 144, find the length of major and
minor axis, co-ordinates of foci ,vertices, and eccentricity.
s/ OR
Y@t A3x+y+16=0 T 4/3x-y+9=0a = BT T BT |

Find out the angle between J§x+y+16=0 and ~/3x - y+9=0

g wIvT f5 — ()
Prove that -
1- sn‘ne =sech - tan®
1+sin6
3rerar / OR

af A:% I Bzg g ar g o &
cos (A + B) =cos A.cos B—sin Asin B

If A =g and B =g, then verify that

cos (A + B) = cos A.cos B — sin A.sin B.

gerg g ¥ sin X T ITddholsl STd BIFY | (@)
Differentiate sin x by first Principle.

srerar/ OR

1
log TOOSX 1 x @ e Srawer B |
1- cosx

1+ cosx
1- cosx

Differentiate log with respect to x.
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J-(x+lj3 dx T A9 S DI | @

X
1 3
Evaluatej‘(x +—) dx
X
srar/ OR
J‘ﬂ dx &T 79 ST HINTY |
sec x-tan x
Evaluate J‘ﬂdx
sec X -tan x
g oie &5 — (@)
Prove that —
tan ' (1j+tan -1 [ij =tan ! (gj
7 13 9
AT/ OR
g dIT 5 —
Prove that —
tan-|_COSX |_®_X
1+ sin x 4 2
TiegeT & Ay g™ ST Bfdm— (@)

Calculate the mean deviation from median —
7,4,10,15,9,12,7,9, 7.

e/ OR
= IR & o 9w famres S1T9 ST —

Calculate the Standard deviation for the following data —

I 0-10|10-20 | 20-30 | 30—-40 | 40-50
Class Interval
EIRSEIRSI 3 5 9 6 2
Frequency
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9 5
- afe x+y={7 0} S x—yz[3 O],FI‘@IX‘TGTV?I’IHWI ®)
2 5 0 3
, : 7 0 30
Fn‘udxandy,n‘><+y—{2 5} and x—y—[o 3].
st/ OR
afg A=[21 Z} IR f(X) = X — 4x + 7 ;a1 Rig HR & f(A) = 0.
2 3 5

If A:[ ) 2}and f(x) = x* —4x + 7, then show that f(A) =0.

923 (5)

wwﬁvﬁaﬂpa‘?w%amqa‘%m%aaﬁﬁ?@aﬁﬁm
& (pg) @f 9= 1 M

The p" term of an A. P. is % and its g term is% . Prove that its

pg" termis 1 .

et/ OR
a1 ARl BT R AT 9 ' TT S9dT IUAwe 80 § | R
ST DT |

Arithmetic Mean of two numbers is 9 and their product is 80.
Find the numbers.
Y24  JE UPH AW qV BT AGEDH aI9 fhaT S & 1 59 a9 7 53 (5)
AqaR BF BT WfAwar s DIy |
Find the probability that a leap year selected at random will
contain 53 Sundays.

3rerar/ OR
52 T @ Ui DT U TSI H F TP O Il Heptel &I ®
SAD A, N AT IGLATE Fehet] DT UIRIDHAT T DITSTg?
One card is drawn at random from a pack of 52 cards. Find the
probability of it being Jack, Queen or King.
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g — 9 ([Adheu—1)
SECTION - ‘C’ (Option-I
g A @ B @ Refy afewr w9 i+3j-k a 3i—)-3k =1 & ®)
Rrg T 6 AB & 7i=eg fomg, a1 Reafar dfew 2?+§-2R BT |
Position vectors of point A and B are 3+3}-I§ and 3?—} -3k
respectively. Then prove that, Position vector of the mid point of
ABis 2i+j-2K.

serar/ OR
i fesar AABC &1 d=o G &1, O Rig diog
GA+GB+GC=0
If G is the centroid of any triangle ,then show that (Prove that)

GA+GB+GC=0.
fagatt A(2,-3,4) 9B (-5,6,7) & faM acl xa@vs & < (5)
qedR 9910 T el BT FHIDRT ST DI |
Obtain the equation of the sphere described on the line joining
the points A (2, - 3, 4) and B (- 5, 6, 7),taking it as a

diameter
3erar/ OR
Rig P 6 &7 FAR F9cell 2x—2y + 2+ 3 =0 O

4x—4y+22+5=0$3ﬁﬂ3ﬁrﬂﬁréﬁ'l

Prove that the distance between two parallel planes

2x—2y+z+3=0and4x-4y+2z+5=0 is%.

gos — A (fdmou—II)
SECTION — ‘C’ (Option-li)
DI AT e SgTeT JEaR (ATRRID) ' — (5)

(a) 95 W 14% i@

(b) 105 WX 15% i
Which is the better investment -

(a) 14% stock at 95
(b) 15% stock at 105.

3rqar/ OR
T ik 5 10% 1 12,000 I 1 IEfeb 92 & 91d A TRI&T e
ST e 983 BF WR 99 fauT| SHHT el AT Ter wherd |
HITSTT |

A man bought I 12,000 of 10% stock at 92 and sold it when its
price raised to ¥ 98. Find his total gain and gain percent.
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I 2000 BT AR a9 AFBI a9 2003 & FADBID I TOET DHIeg —  (5)
Construct the price index number for 2003, taking the year 2000

as base year.

Commodity Price in the Price in the
year 2000 year 2003
CES| Iy 2000 H AU | 99 2003 H HA
A 60 80
B 50 60
¢ 70 100
D 120 160
E 100 150
Jrerar/ OR

T o 25 a¥ @T g H 50,0003 @Y g ST difersit 30 a9 b
forl orar 21 711 fOeRoT & SR S¥enT Sfe—arfie W™ =rd
DIY —

A person at the age of 25 years takes an insurance policy of
sum assured ¥50,000 for 30 years term. Calculate the half-
yearly premium assuming the following details —

arferenT WifHTH : T 40/1000
Tabular Premium

Fferes 91 I @ ford Be : % 2/1000
Rebate for large sum assured

FI—aTD A B for’d BT 1.5%

Rebate for half-yearly payment
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